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Candidate Instructions Z4 2840

Read the instructions on the answer sheet carefully. Fill in the necessary information before the announced
deadline.
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Check for any missing pages in the test booklet after the exam starts. "End of Paper" should be present after the last
question.
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Each question carries equal marks.
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Answer all questions. Circle answers on the answer sheet with a pencil and then answer on the electronic device.
Double-check answers on the electronic test paper.
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Select only one answer per question. Multiple answers will receive no marks.
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Do not leave the exam room until the test is completed. Allocate time for reviewing the test paper if finished early.
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A rectangular swimming pool has a width of 59m, and length is 12m
shorter than the width. If we cover the area around the pool with
artificial grass, what is the total length of the artificial grass?

A. 47 m
B. 106 m
C. 212m
D. 260 m
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Three squares with side lengths of 23 cm are combined to form a
rectangle. What is the perimeter of the rectangle in cm?

A. 69 cm
B. 92 cm
C. 184 cm
D. 1587 cm

AAETNIIERAARRE -

Calculate the perimeter of the following figure.

A. 24 cm

B. 10 cm aem

C. 16 cm e
D. 20 cm 2¢m
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The perimeter of a rectangular garden is 40m. Its width is 8m, and its
length is 12m. If we double the width and decrease the length by 3m,
what is the perimeter of the new rectangle in m?

A. 40 cm
B. 50 cm
C. 60cm
D. 80cm
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The length of a rectangle is 8.2 cm, and its area is 123 cm?2. What is its
width?

A. 15 cm

B. 30cm

C. 53.3cm

D. 1.5cm
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5 rectangular cardboard with dimensions 15 cm x 7 cm are grouped
together to form a large cardboard. Find the area of the large
cardboard.

A. 44 cm?
B. 100 cm?
C. 105 cm?
D. 525 cm?
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When measuring the area of a textbook, which unit of area would be
most appropriate?

A . m
B. cm?
C. cm
D. m

—IRAKRER48K - BEE20XK - IRBFHANEERE6LT @ EiRA
HHNEEBEZ NIt ?

The length of a field is 48 meters, and its width is 20 meters. If the
selling price per square meter is $65, what is the selling price of the
field in $?

A. 62400
B. 624
C. 96000
D. 960
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Which of the following quadrilaterals does not have two pairs of equal
side lengths?

E 5 Rectangle
1IEA#2 Square
ZH2 Rhombus
¥H2 Trapezium
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